NICHIE/
N2

Enrcat
E IIvIV—h @ik
AATRILSETLE, FubEEHAITTD
SR L OEEE E RS
Za—Abw/t—,
N
EZELEER
FSRARIAET 25 —_— ERE —— BUVU—X BARIETE —_— 5<IYU=X
1 BOOME 25,0008 '
1.680048
1,400 = EEa0eH 549’ /}/ -
(] ke
1 2ooH et 15,0007 |— RUOLGN = I
| — : / T
8001 ] — 10,000/ ] o
6001 — L —— ' = — &
4004& | 5.000M
/ .
=] | "1
== = s
|05 oBRD GRS SHSR GESRY 7SR BESR OWRD 1 ORI O 100 200 3008 400 SO0 600E 700 1E
5]
1540004 1541504  154-1004 g

s

w JREETUIL/N> RBNS3 S| g o N-010202

+,

MBE - BE

BEGE | SGP(VP40A~VP300ABHATEET)
m90A-200ALL EIFF#HELGUET. mitR (WIEibh-F)

J—KENo. EEiF EAEEEA)  txB P @fdRILbryb H  ABOExE)
015 15A 21.7 1.8%25 | 44 | 20 | M6x20 | 54 | 280(10x28)
020 20A 27.2 1.8%25 | 44 | 20 | M6x20 | 58 | 220(10x22)
025 25A 34.0 1.8%25 | 44 | 20 | M6x20 | 62 | 170(10%17)
032 32A 42.7 1.8%x25 | 44 | 20 | méx20 | 67 | 150(10x15)
040 40A 48.6 1.8%25 | 44 | 20 | M6x20 | 69 [ 120(10x12)
050 50A 60.5 1.8x25 | 44 | 20 | M6x20 | 76 | 150(10x15)
065 65A 763 [20x25| 44 | 20 | M6x20 [ 84 | 150(10x15)
080 80A 89.1 2.0x25 | 44 | 20 | M6x20 [ 90 | 120(10%12)
100 | 100A 1143  [2.0x25 | 44 | 20 | M6x20 | 104 | 100(10x10)
125 | 125A 139.8 [ 3.0x32 [ 55 [25% | MI0x30 | 127 50
150 150A 165.2 3.0%32 | 55 [25% | MI10x30 140 50
200 | 200A 2163 [ 45%x32 | 60 [25%| M10x30 [174 30
250 250A 267.4 4.5%38 | 70 |35 M12x35 203 20
300 | 300A 3185 | 4.5x50 | 65 |30 | M12x35 [ 235 10
090 90A 1016 [ 2.0x25| 44 | 20 | M8x25 | 97 —

HRTBRONDTEEMEBLTIIEE L.

mm 25 VUREIVII/N Y RBN{T =T ) [ N-010204
MR - A

BESE | A7 VLAEE (FA)/VPA0A~VPI00AEHETEST,
ESGPICHHATEET (ERFILMWENKNETY) mFLAR(SUS304)
HO0A-200A - 250AIF R ETRIET,

J—FNo. EEin  ESEEEA)  txB C P @b uks H  AZ(O8ExE)

015 15A 21.7 2.0%25 | 44 | 20 | Méx20 56 | 280(10x28)
020 20A 2752 2.0x25 | 44 | 20 Mex20 59 | 250(10x25)
025 25A 34.0 2.0%25 | 44 | 20 Mex20 62 | 200(10x20)
032 32A 42.7 2.0x25 | 44 | 20 Mex20 67 | 150(10%15)
040 40A 48.6 2.0x25 | 44 | 20 Mex20 70 | 150{10%15)
050 S0A 60.5 2.0x25 [ 44 | 20 Mex20 76 | 150(10x15)
065 65A 76.3 2.0%25 | 47 | 20 Mex20 87 | 150(10%x15)
080 80A 89.1 2.0x25 [ 47 [ 20 | M6x20 94 | 150(10%x15)
100 100A 114.3 2.0%25 | 47 | 20 | Mex20 108 | 100(10x10)
125 125A 139.8 3.0%32 | 55 [25# | MI10x30 134 50
150 150A 165.2 3.0%32 | 55 |25%| M10x30 145 50
200 200A 216.3 3.0x32 | 55 [25#| M10x30 165 30
250 250A 267.4 4.0%50 | 65 |30 | M10x30 | 209 10
625 125A 139.8 2.0x25 | 45 | 20 M6X25 117 50
650 150A 165.2 2.0%25 | 45 | 20 MEx25 130 50
090 90A 101.6 2.0%25 | 44 | 20 MBx25 97 =

#RAROTOTEERELTUEEL.

BRscizu—x Elzvvrz—+- Bmurs Heay Blamscmsarawn. BBssinos T4 ADBAIZMMTT,




